L3
Primary and Derivative Words
‘Al s either substantive (%) which is not derived from another word, or
derivative ((3ii%) which is, as ‘a>w!’. The word from which the derivative
word is taken is the root word (J.J)_ The root word may be an infinitive
(S2as).
Original and Additional Letters
e The letters of a root word that are also found in its derivatives are
referred to as the original letters (_Aa¥! < aYl)
e The letters that are found only in some of the derivative words are
called additional letters (314 <ia¥)
For example in ‘alle’ and ‘s 512<’, the three letters ‘» J ¢’ are the original letters

« 7 ¢

since they are found in their root word (k). Also ‘¥, ‘5’ and

l\l

are
additional letters.

Construction of the Kalimah

«

2 is the word that is comprised of three original letters.
‘=LY is the word that is comprised of four original letters.

L&’ is the word that is comprised of five original letters.

Eache of these also has two subdivisions: ‘“25a%" and ‘4é L W/,



If the Kalimah contains only the original letters it is Mujarrad (here we call it

primary) and if it has additional letters as well, it is Mazeed-fihi (here we

_ e.g. (a man) d:;:)
48 3 e s ©.8. (Mmen)
e.g. (small stream)

? D S 3 o

call it derivative).

e.g. (small
streams) _ilas

B S

e.g. (an ancient
wine) ps s

Patterns and their Rules

A particular pattern or Wazn (0_3) is utilized to distinguish the original letters
from the additional ones. J «¢ <« are used in the place of the first, second
and third orignial letter, respectively. For example ‘&’ is on the pattern of
‘Ja¥ and ‘a2’ is on ‘Js¥. If the word has more than three letters, the letter
‘Y will be repeated. E. g. ‘23" : ‘Jla¥ and ‘Ja_aly ; ‘s

The first original letter is referred to as ‘4« :¥', the second as ‘4« (e’ and
the third as ‘Il 2Y’, If an original letter is repeated, its corresponding
letter in the pattern will be repeated as well. E. e. eL- J=4. The additional

letters however, exist in the pattern as they are in the word. E. g. alle: Jel&,



The vowels or Harakaat in the pattern must correspond with them in the

word.



